
co(g) + N02(cJ)--- -+C02(g) + NO (g)
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k
A+B-2-h c + D

k-l

1~)  [ril[Bl = k-, [Cl[I?l  . ..(2.3)

4UWi.\“&UVp K -z klC - -
k - l

[Cl[Dl k1
[A]LBl  = - = K . ..(2.4)

k -1 c

CH 343





.%

0

f2-
0
rl

c:

4

3

z

I -

l l;
1 . 2 1 3 1 . 1

+--- -
-l-15 1.6  1-7 1.8 I.9

--
2.303 R
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Z
AA =

id-i-  lid*  Cn2 . . . ..(2.13)
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z
2 mA+m

AB = nAnBd AB  t8flkT 2  I’ .  .  ..(2.16)
mAmB

d .z
AB dA+ dB

2

fh~w"  !.I  = SJ’JBWI (reduced mass) = Mama

1951115  (2.16) Xl3u”UUb%h mA+m B

z 2
AB =

n n d  ~
A B A!B(  V

EflkT)%
. . . . - ( 2 . 1 7 )
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d n 2

0 =
n

M e x p  c--$&J  c dk
FF

d "E = 1 exp ( - zT)  dE . .._ ( 2 . 1 8 )

n FF

v = 2 ZAAWP ( -Ea) . . . . . ( 2 . 2 0 )

Rr

” = 2 AB exp  ( - Ea)
FF

. . . ..(2.22)
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kr = d;8N (->'llkT ' exp (-Ea/RT) . . _ . (2.27)u

A = Nd 2 8llkT 4
AB (-IJ )

PN (1.013~10~)  (6.023~10~~ ) molecu1e.m -3
"=iE=- 8.314x700

= 1 .o5xlo25 molecu1e.m -3

mm.m~‘z  (2.15)

z = 2 n2d2(flRT 1 %
AA M

= 2 x(l.05xlO i!5~2x(3~5x,o-10~2x~~x8.31x70_;~~

127.9~10  k g

-3 -1molecu1e.m .s
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9inmmi~ (2.20)

” =2z AAew (
-F

a/RT) m o l e c u l e  .m-3es-l

=  2  x 1  .02x103*  exp(- B :~~~~~o)
.

= 3.75x1 020  molecule.mT3  .s-’

=  3.75~10~' =  6.23x10-*  mol.m-3.s-1

6.02~10~~

k = 4x(3.5x10 -10j2~"x8.31x700~~
exp (-

1 8 4 0 0 0
r ).-

1 2 7 . 9 ~ 1 0
- 3 8 . 3 1 x 7 0 0

= 3.40x10
- 3 0

m o l e c u l e
-1 3 -1.m .S

= 3.4OXlO-3ox6.O2XlO23  m~l-'~m3~~-'

= 2 .05x1  Oe3 dm3  .mol-’  “e-’

k - E=
I- P ZARexp( a/RT) . ..(2.28)

6 6 CH 343







tW~%&::U - d [A] = [AIEBI  Q#. ..(2.33).k T exp( -E o)
d t

- d[Al  = kriAl  [Bl . . . . (2.34).-
d t

win%&4  kr = kT - Q, .exp( -Eo/RT) . . . (2.35)
K- Q,Q,

Q, = (sTAqR)r(q")"

Q, = (qT)t(sR)r (cl")"

Q, = (sTP(sR)r(s"P

t, r, v HUlUiiJ  iluau  degree of freedom u&3fl~~l6bUbiWlIl¶J  lw~XQ?hl~ri

O~~El%.l  A LlA’.  B 5l:!l&iJ  translation QhJt%i? 3 degree of freedom

lW1XX&
Q, = (q,j3 (qRjo  b”)O

= bTj3

twit Q, = (STj3 6%.l

CH 343 6 9











d In  K' = AE' . . ..(2.43)
dT RT2

13inmmi3 (2.41) Lalai  In tu'7~~ttA"a~~t~Qt~U~tQ~

d In kr = 1 + d 1n.K'
dT T dT . . ..(2.44)

LLYlUcIUlll~  (2.43) !I4 (2.44)

d In kr= 1 L
+ AE = RT+AE' e-.(2.45)

dT r -
RT2 RT2

d In kt= Eexp
dT

RT2

E
exp =

RT + BE' . . . ..(2.46)

im A HL = A EL + PA/

A E* = A Hi - PAV*

ttnufii  AE* Iuaunm ( 2 .4 6 ) Y

E
‘exD = AH* - PA"* + RT' . . . (2.47)
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A = e exp  (2+AS+) . . ..(2.51)
h z--

lU@i5~d  ihu' n IUtRgR ?:Vi

A = kT exp (n +AS')
FT -ii . . ..(2.52)

%il

QdU~hJIllY  (2.50)

A = kT exp(1 + AS*)
E-- -iT-

As*  = Rr2.303  log A - 2.303 log (kT - 11
ii--’

8.314[2.303  log(2.7~10 11= J - 2 . 3 0 3  log

(1  .38x1  O-23x8O3

6 .626  x  10
-34 j-1  .I

= - 4 2 . 7  J.K-1 .mol-'

t
pz = kT exp (2+ F )

ii-
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*tcm3. -1moi  .s-'' )

H’ + H-H
2 2 -I-*

,o-14.7

CH- +
3

CH4------+cH
4

+ CH’
3

,o-11.8

C6H;  + Hp-c H
66 + 13'

,o-10.7
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